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g5 e 42 R B B[] e 3= e THT 7 TE
1 B 0.748 14685. 768 35622. 234 1. 4926
2 A 0.832 236046. 297 1970589. 500 95. 4848
3 1. 423 3724. 107 21543. 768 0. 0000
4 ZE AR 2. 757 3263. 415 26607. 051 1. 0658
5 6.132 848. 819 24048. 699 0. 0000
6 e 10. 140 10364. 308 72703. 797 1. 9569
7 11. 307 174. 613 5546. 900 0. 0000
8 13. 440 39. 463 1927. 800 0. 0000
9 14.773 20. 920 553. 400 0. 0000
269167. 710 2159143. 149 100. 000
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EXCELLENT GAS
FREEZSEE

BIEShICR

Ff. 202592 g2, B20250902111329
Mo 25 HoEE (%) H oy B FR Hyag (%)
= |He 0.000 %2277 45| Trans-2-C,H, 0.000
Fr 42| CH, 95.485 Jifi2 T 47| Cis-2-C4Hyq 0.000
7.3 CoHy 0.000 1,3 T = J5|1,3-C4Hg 0.000
Z.4z|CoHg 0.000 B i4z|i-CsHy, 0.000
7 k22| CsHs 1.957 F 4z n-CsHy, 0.000
7 15| CsHe 0.000 — & 4B CO 0.000
8T | i-CyHyo 0.000 — &4 CO, 1.066
IE T #z[n-CiHyo 0.000 5|02 0.000
1 5 T 4%(1-CaHs 0.000 w5 N2 1.493
#3+100.000
42 (0°C, 101.kPa)
B = 40.116 |MJ/m® Wi 3=(38.79
& B fi= 36.105 [MJ/m® HIx E=(0.5910
P A 1 = 52.181 |MJ/m?* W= 0.764 [kg/m’
TEHVEAE 5 Si= 46.965 |MJ/m’ FHRAFICo,= 11.48
520Y LB R AEE A H= AATTEIE R =
A3 (15°C, 101.kPa)
2= 37.9475 |MJ/m’ WREE3=(38.80
flEff=|  34.2017 |MJ/m’ A 2 BE=0.5908
A 4 B 49.36 [MJ/m’ 2y 0.764 |kg/m’
EREE A H= 44.49 IMJ/m’ FHS P HCo,= 11.48
520Y LB R AVE 4 A H= ABREIE R H=
0°C, 101.kPa 15C, 101.kPa
i H = 168 |kcal/m’ mpvtl 159 |keal/m?
G = 152 |kcal/m’ i ] 144 kcal/m’
EREE A H= 219 |kcal/m’ B R A % 207 kcal/m®
IERVEE A H= 197 |kcal/m® 1Bl 2 e X 187 kcal/m’
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DGR EK
(357 g 42 £ B8 B[] [e3=n g TH] AR eE
1 B 0.748 19877. 791 50938. 023 2.1948
2 FA e 0. 840 231950. 000 1923410. 250 95. 8414
3 1. 423 3430. 417 19675. 594 0. 0000
4 ZEATR 2.732 5000. 636 42584. 602 1. 7541
5 6. 057 1128.213 32392. 449 0. 0000
6 Hks 11. 140 235. 602 7574. 500 0. 2097
7 12.973 16. 308 483. 500 0. 0000
it 261638. 967 2077058. 918 100. 000
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% ST R
Hi#g. 2025.9.2 Y2, B20250902113244
Mo AR HrEE (%) H o 2 FR HiEE (%)
&5 Ha 0.000 %27 45| Trans-2-C,Hg 0.000
Fi 42| CH, 95.841 Jifi2 T 45| Cis-2-C Hg 0.000
Z. 4| C2Hy 0.000 1,37 —%%[1,3-C4Hy 0.000
Z.4|CoHs 0.000 Sk kz|i-CsHy 0.000
itz |CsHs 0.210 TF 4z |n-CsHy, 0.000
77| CsHs 0.000 — & ke(CO 0.000
5T 4i-CiHy 0.000 —&4kHe|COs 1.754
IF T 4z[n-C4Hyo 0.000 5|02 0.000
F 5 T %|1-CsHs 0.000 w5 N 2.195
#i4[100.000
4 E (0°C, 101.kPa)
Bl = 38.487 [MJ/m® BB $=|37.82
(&R = 34.606 [MJ/m> FIx 25 pE=]0.5832
RREE A K= 50.399 |MJ/m® = 0.754 |kg/m’
T ASE 45.317 [MJ/m’ TS Co,= 11.28
520Y LR B 4 3 B= ARTTIEIE R B=
R4 (15°C, 101. kPa)
i fti= 36.4111 [MJ/m’ Bhiah=(37.82
&A= 32.7856 |MJ/m’ Fax R E=]0.5830
HAVEEAH= 47.68 (MJ/m® B = 0.754 |kg/m’
RSB 4 1 B= 42.93 |MJ/m’ TR Co,= 11.28
520Y R B AV 4 A = MATIBIE R Y=
0°C, 101.kPa 15°C, 101.kPa
B = 162 |kcal/m’ Eadgl 153 keal/m®
&t = 145 |kcal/m’ EagE| 138 keal/m’
B4 = 212 |keal/m* Edeay 200 keal/m’
A 1 1 3= 190 keal/m’ fiEpEeEs] 180 |keal/m’
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ST RE
5 I 42 LR B4 B[] e = g T A5 EE
1 BA 0. 757 23301. 078 60218. 117 2. 6069
2 H g 0. 840 230606. 578 1908562. 500 95. 5502
3 1.432 3280. 175 18421. 740 0. 0000
4 ZE AR 2.748 4848. 909 40392. 199 1.6717
5 _ 6. 082 1083.012 31541. 199 0. 0000
6 Ay s 11.190 197. 652 6158. 900 0.1713
IS8T 263317. 405 2065294. 656 100. 000
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fa SRR
F 1. 2025.9.2 Y, B20250902135831
H o AR HuyaE (%) Hor 2R HosE (%)
g5|H 0.000 2T 4| Trans-2-C,Hg 0.000
AR 4| CH, 95.550 JFi2 T 45| Cis-2-C4Hy 0.000
7,4%|CH, 0.000 13T =4 1,3-CoH 0.000
Z.4z|CaHe 0.000 i gz 1-CsHyp 0.000
i k| CsHs 0.171 1 2z |n-CsHy, 0.000
i 15| CsHs 0.000 —& k1| CO 0.000
T | i-CoHio 0.000 — k| COs 1.672
1E T kz(n-CaHyo 0.000 45|02 0.000
i 5T 4| 1-Cas 0.000 N2 2.607
#3+/100.000
#RS#%E (0°C, 101.kPa)
B = 38.332 |MJ/m® B H=(37.66
fE# = 34.466 |MJ/m’ AR B =(0.5837
B RVE A = 50.174 [MJ/m’ B 0.755 [kg/m®
R A %= 45.113 [MJ/m’ FHSHHCO,= 11.24
520y HBR A B4 1 3= AS BT R M=
% (15°C, 101.kPa)
B = 36.2643 |MJ/m’ MR %5=(37.66
ISR = 32.6527 |MJ/m’ Fxt s pE=0.5835
BRI = 47.47 |MJ/m’ = 0.754 |kg/m®
IR 4 1 B= 42.74 |MJ/m’ FHSFHCO,= 11.24
E20Y B EAEHE A B= RATBIERE=
0C, 101.kPa 15°C, 101.kPa
Bifl= 161 |kcal/m’ madyl 152 keal/m’
A fti= 145 |kcal/m’ Rl 137 keal/m®
B HVE A B = 211 [keal/m’ mavaseas 199 |keal/m®
&R B 4 2 M= 189 |keal/m’ fEREEEs] 180 |keal/m’
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SR
I 5 I 42 LR B5 st ] 2= g T} AR a8
1 BE 0. 757 17317. 365 44832. 148 1. 8746
2 FH g 0. 840 237976. 078 2011341. 250 97. 2603
3 ZE AR 2.782 2009. 823 16400. 100 0. 6556
4 6. 323 250.712 6732. 900 0. 0000
5 kT 11. 232 225. 068 7800. 900 0. 2095
6 12. 432 17. 800 386. 200 0. 0000
7 13.132 3. 462 155. 900 0. 0000
i 257800. 309 2087649. 398 100. 000
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EIENHITR
Hig. 2025.9.2 ga, B20250902141516
Hor 2R HrEE (%) 4 44 FR HoEaE (%)
H5|Ha 0.000 %27 4| Trans-2-C,Hy 0.000
A 4z CH, 97.260 JFi2 T 4| Cis-2-C,Hg 0.000
Z. 1 |CHy 0.000 1,37 =4[ 1,3-C4H, 0.000
Z.4z|CHe 0.000 Bk kz|i-CsHyy 0.000
4| CsHs 0.210 1F 4z (n-CsHy, 0.000
17| CsHs 0.000 — & 4| CO 0.000
BT gz|i-C4Hyo 0.000 — 245z CO, 0.656
IF T 4z|n-CiHyo 0.000 5502 0.000
I 5T 4%1-CaHs 0.000 w5 N2 1.875
#3+100.000
4% (0°C, 101.kPa)
BHE= 39.054 (MJ/m’ Mipe=(38.78
fEH = 35.115 |MJ/m’ IR B RE={0.5711
FOAEAE A H= 51.677 |MJ/m’ = 0.738 [kg/m’
R4 A = 46.465 |MJ/m’ FHESHHCO,= 11.45
520Y LR AVE % A = MATIBIERE=
4 ZE (15C, 101. kPa)
B[l = 36.9470 [MJ/m’ MR $=(38.78
& B = 33.2681 |MJ/m> x5 pE=0.5710
B PR 1 = 48.89 |MJ/m’ = 0.738 |kg/m’
(A 4 2 K= 44.02 [MJ/m’ FHSHHCOo,= 11.45
520Y e B R AE 4 A $= ARTIEIE R B=
0°C, 101.kPa 15°C, 101.kPa
R Hu = 164 kcal/m’ vl 155 |keal/m®
A= 147 |kcal/m’ Eadgl 140 |kcal/m®
A 4 1 B= 217 |keal/m’ mavEsEes 205 |keal/m’
GV AL 195 |kcal/m’ fEpEEEs] 185 |keal/m’
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S RE
2357 2324 £ B8 B[] 2= g THj AR TE
1 B 0. 757 1516. 290 3953. 535 0. 1691
2 A g 0. 840 226393. 953 1874450. 000 92. 7353
3 ZE AR 2.682 14003. 000 146187. 703 5. 9787
4 6.273 542.012 15992. 050 0. 0000
5 T 11. 007 1069. 148 40637. 500 1.1168
B 243524. 403 2081220. 788 100. 000
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ez a8 HTIRR
F #8. 2025.9.5 ViR B20250905153603
Har A HayEsE (%) Hor ZFR HAEE (%)
s |H, 0.000 J%2 T 4| Trans-2-C,Hy 0.000
b x| CH, 92.735 2 T 45| Cis-2-C,Hy 0.000
z.4%|CH, 0.000 1,37 —%%[1,3-C4He 0.000
Z.4|CoHg 0.000 &z -CsHia 0.000
7 k| CsHs 1.117 1F % 4| n-CsHia 0.000
55| CsH 0.000 — s 4paeCO 0.000
e eh: 0.000 — s 4n5|CO, 5.979
1F T 4{n-CaHio 0.000 55|02 0.000
5T 4| 1-Cals 0.000 | Na 0.169
#3+/100.000
#HR4r% (0°C, 101.kPa)
A= 38.166 [MJ/m® B pa34=36.04
M5 Hufti= 34.336 [MJ/m’ X85 E=]0.6250
B A 3 = 48.276 [MJ/m’ B = 0.808 |kg/m’
IRRVEE A = 43.431 |MJ/m’ FHESHCO,= 11.04
20 YWBEAEE A H= AARBIERE=
IR # (15°C, 101. kPa)
B = 36.1052 [MJ/m° BRBe#=36.05
fffe=| 325272 |MJ/m’ AR 1 =]0.6248
B A = 45.67 |MJ/m> R = 0.808 [kg/m’
(A 4 1 H= 41.14 |MJ/m’ FHESHCO,= 11.04
520Y W BEAEE A B= AATBIER S =
0°C, 101.kPa 15°C, 101.kPa
B t= 160 |kcal/m’ EavE 152 keal/m’
= 144 |kcal/m’ w137 |keal/m’
BRI B = 203 |keal/m’ madaeas 192 |keal/m’
T E =T 182 |keal/m’ Eadaens 173 keal/m®
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fisf 18] (min)
SITEERE
2357 2 324 £ B it 1] 2 3= g T AR &
1 AR 0. 757 20387. 787 52161. 566 2. 2552
2 =P 0.848 230364. 172 1915967. 750 95. 7963
3 1. 440 3698. 141 21951. 443 0. 0000
4 —E MR 2.765 5465. 583 47141. 602 1.9485
5 6. 223 744. 263 18932. 699 0. 0000
6 11. 298 332. 158 11431. 400 0. 0000
7 13. 498 8.333 283. 100 0. 0000
Mt 261000. 438 2067869. 561 100. 000
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EIEAHITR
Hig. 2025.9.5 42, B20250905155520
Hor LW HIrEE (%) Hor L FR Huoai (%)
H55|H 0.000 22T 4| Trans-2-C,Hg 0.000
FA 4z (CH, 95.796 Jifi2 T 45| Cis-2-C,Hg 0.000
7.9 CH,y 0.000 1,37 = #%1,3-C4Hq 0.000
Z.4z|CoHg 0.000 Bk dz|i-CsHyy 0.000
7 kz|CsHs 0.000 1F 4z |n-CsHy 0.000
7475 CsH 0.000 | CO 0.000
ST 4z|1-CaHio 0.000 —%& 45| CO, 1.949
1F T #z[n-CsHyg 0.000 4502 0.000
F5 T 4#/[1-CiHs 0.000 w5 N2 2.255
#31/100.000
4% (0°C, 101.kPa)
Bl = 38.257 [MJ/m® R $=37.63
(E = 34.395 [MJ/m’ 5 8=]0.5832
B A = 50.096 (MJ/m’ = 0.754 |kg/m’
1 H i 4 1 B= 45.038 [MJ/m’ FHSFHCOo,= 11.25
520Y LR RVE % A = A RMEIE R B=
% (15°C, 101.kPa)
B A= 36.1935 |MJ/m’ PR $4=]37.64
fEfE=]  32.5857 |MJ/m’ I8 =]0.5830
B HVE A = 47.39 [MJ/m> B F = 0.754 |kg/m’
& 4 1 B 42.67 [MJ/m> FHSFHICO,= 11.25
520Y LB R AEE A B= RATEIE R H=
0°C, 101.kPa 15°C, 101.kPa
B fufi= 161 |keal/m’ madE| 152 [keal/m’
R #E= 144 |keal/m’ &Pl 137 kcal/m’
BB = 210 |kcal/m’ Epees 199 |keal/m®
EAE 4 B= 189 |keal/m’ EREEES] 179 keal/m’®




T e
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pe| mmwEm | mweE | ewEs | e | DS o | s | s | s
1 T 2025/9/2 17:11 39.6 S i
2 b=t 2025/9/2 16:54 39.4 SH EF
3 HER R AT 2025/9/2 16:00 34.6 s EF
4 SRHIRE 2025/9/2 16:22 33.4 SH EF
5 FKRIFHR 5 2025/9/2 15:22 28.8 S i
6 WEEAES | 2025/9/2 8:45 25.9 SH EF

20254
7 J % 2025/9/2 16:19 31.7 S i
8 Fik 2025/9/1 10:16 32.9 SA EF
9 Elar 2025/9/1 11:28 31.1 S EF
10 ) 2025/9/2 14:39 32.3 SA EF
11 Btk 2025/9/1 8:47 31.2 S EF
12 fZi% 2025/9/2 16:49 30.9 SA EF

AR RSN R AMFEY  (CJJ/ T148-2010) =< A A VU MEWY (THT) SH0. 08mg / m3i, AT TASI N FfwE Eh kg, B
AR 99 % N (B F599 % ML) S5 1%







